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marcadores de
peso molecular

MW (KDa)
245
180
135
100
75
63
48
35
25
20
17
1

equagéo reta
r2

os 3 principais
omponentes
lisado / DEAE
1
2
3
MW ou PM

1
2

3
Quem deles é

Enigragéo relativa

curvas LogPM
versus mr
(migragao
relativa) com
nos. grupos:

grupo 3

0,104
0,139
0,168
0,233
0,277
0,361
0,475
0,604
0,777
0,842
0,921

y=-1,22"x +
2,32

0,976

0,327
0,44
0,613

83,17
60,25
37,15

Componente
alfa-glicosidase? 1

grupo 6

0,082
0,118
0,165
0,235
0,271
0,353
0,459
0,600
0,777
0,835
0,918
0,988

y =-1,28x

0,967

0,318
0,600
0,976

85,79
37,33
12,31

Component

Migracao Relativa

grupo 8 grupo 10 grupo 11
0,123 0,047 0,0989
0,154 0,074 0,1319
0,200 0,108 0,1670
0,246 0,162 0,2253
0,308 0,216 0,2747
0,369 0,304 0,3527
0,492 0,426 0,4681
0,646 0,574 0,5989
0,769 0,757 0,6802
0,800 0,831 0,7308
0,862 0,932 0,8253
0,954 0,986 0,9286
y=-141x+ y=-119x+ |y = -1,465x
2,42 2,26 +2,390
0,971 0,956 0,975
0,338 0,294
0,492 0,346
0,646 0,604
87,65 81,3
53,19 70,5
32,28 34,8
Componente

1

grupo 18
0,09
0,125
0,155
0,215
0,262
0,345
0,46
0,59
0,76
0,835
0,925
0,985
y=-1,28x+
2,33
0,961

0,315
0,375
0,6

84,48896695
70,79457844

36,47539469

Componente
1

grupo 20
0,125
0,158
0,192
0,267
0,329
0,392
0,5
0,642
0,767
0,8
0,858
0,958
y = -1,4306x
+2,4343
0,9782

0,375
0,483
0,658

82,19
56,91
31,38

O componente 1



Curva Grupo 3 Curva Grupo 6

® log PM 1227 + 2.32 R2= 0.976 ® Log (PM) -1,28*x + 2,34 R? = 0,967 Curva Gru po 8
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